
 
 
 
 

 

 
G R E E N W I T  T E C H N O L O G I E S  I n c .
 
             OFFICIAL SUPPLIER OF MOTORINOTM  PRODUCTS 

      

 
SPARE   PARTS 

CATALOG 
           PARTS for Motorino XMs 

February, 2016 

 

____________________________________________________________________________________ 

©2016 Greenwit Technologies Inc. 



Motorino XMs PartsMotorino XMs Parts

Motorino XMs Parts

Colors
 ORG Orange

GRE Green

 BLU Blue



___
*See Assemblies Section for list of all components Motorino XMs Parts
___
*See Assemblies Section for list of all components Motorino XMs Parts

XMs  - Body and Trim

Part# Picture Description Color Part# Picture Description

MSP01
Front 'X' Fairing, 

Black
 Black 

MSP11L / 
MSP11R

XMs Upper Side Panel, 
Black (Specify [L]eft or 

[R]ight)

MSP02
Forward Dash Trim 

Cover 

 Blue, 
Green or 
Orange 

MSP12
XMs Controller 
Splashguard

MSP03 XMs Front Fender 
 Blue, 

Green or 
Orange 

 MSP13 
 XMs Charging 
Terminal Panel 

MSP04
XMs Reverse Front 

Faring
 Black MSP14

XMs Rear Fender 
forward

MSP05L / 
MSP05R

XMS [L][eft / [R]ight 
Shock Trim

 Blue, 
Green or 
Orange 

MSP16
XMs rear upper center 

panel, Black

MSP06
XMs Floorboard, 

Black
 Black MSP17

XMs Rear Fender 
back

 MSP07L / 
MSP07R 

 XMs Low Left Side 
 Blue, 

Green or 
Orange 

MST02 XMs Seat

MSP08
XMs Forward 

Bellypan, Black
 Black 

MST03L / 
MST03R

XMs footpeg metal trim 
(specify [L]eft or [R]ight

MSP09 XMs Bellypan  Black MST05
XM  fl b d t i  XMs floorboard trim 

inserts. Red. L&R

MSP10 XMs Seat Bucket  Black MST06
Trim plastic on license 

plate bracket

MST09
License plate 

upper arm
 One 
Color 

MST14
XMs Rear Rectangular 

Reflector

MST10
License plate 

Lower arm
 One 
Color 

TR17
XMs Mirror.  Left and 

right are same.  [Set is 
x2]



___
*See Assemblies Section for list of all components Motorino XMs Parts
___
*See Assemblies Section for list of all components Motorino XMs Parts

60V 12V DC 

XMs- Electrical

Part# Picture Description Part# Picture Description

MSE01
XMs Headlight 

Assembly
MSE07

XMs Taillight  
Assembly

 MSE02 
 XMs Dashboard 

and Housing 
MSE09 XMs Two-tone Throttle 

w/ Matching Left Grip

MSE05 XMs Turnsignal, L&R / 
Front & Rear same

MSE10 XMs ignition set.

EL21 12V Horn  EL115  Charge Port, 4-pin inline 
connector, MALE 

EL22 40A Breaker MOT027
Motor, wheel, 60V, 

500W, 10"x2.15", Disc 
Brake, CCT

BAT07  
Alarm remote 

battery
EL12L / 
EL12R

Brake Switch Hammer 
style (Specify [L]eft or 

[R]ight)

EL124
60V Sine-Wave 

Controller
EL15

Left Switch Cluster 
(turnsig, hi/lo)

EL19 Turnsignal Relay  EL16  Right Switch Cluster 

EL119 60V Basic Alarm EL18
60V 12V DC -

converter

EL11 CCT switch EL123
Handlebar mounted 

Cigarette lighter Jack, 
XMs

 EL30 
 Bulb, 12V, bayonet, dual 
filament, 5/10W, small 
envelope, offset pins, 

EL40 40A Wire lengths (set 
of 4)



XMs- Mechanical

Part# Picture Description Part# Picture Description

MSM01 XMs Handlebar  MSM08  XMs front brake rotor 

MSM02L / 
MSM02R

XMs Footpeg         
(Specify [L]eft or [R]ight)

 MSM09L / 
MSM09R 

 XMs Front Shock Absorber 
(specify [L]eft or [R]ight) 

 MSM05 
 XMs rear shock 

absorber 
 MSM10  XMs Pedal Axle 

TT20
120/70-10 Tire. 

Standard on XMS, will 
replace TT01

MSM11
XMs Pedal Axle 

Sprocket

MC108
XMs Pedal Cranks 

[L&R set]
MSM12 XMs Main Kickstand

MSM06L / 
MSM06R

XMs turnsignal front 
left mounting bracket

MSM13 XMs Side Kickstand

MSM07 XMs Front Wheel, with 
bearings and seal

MC15
ABS  Front hydraulic 
regulator [c/w ABS 

Coupler Nipple]

MC17 ABS Nipple Coupler MC16
ABS Rear hydraulic 
regulator [c/w ABS 

Coupler Nipple]

MC37
F  H d li  Front Hydraulic 

Line
MC14

S k  Sprocket 
Freewheel

HR64
x2 Hydraulic Banjo 

bolt
MC34 Rear Hydraulic Line

MSM14
XMs Upper Triple 

Clamp
MSM15

XMs Handlebar 
Clamp Set

MSM17
Rear Metal Passenger 

Handgrip
MSM18

XMs Upper Triple 
Clamp Bolt

MSM19
XMs Steering Column 
and Lower Triple Tree

MSM20L / 
MSM20R

Brake Handle Hyrdaulic.  
Adjustable, XMs          

(specify [L]eft or [R]ight)

MC24 Folding Pedals [Pair] MC12 Pedals (L&R)

MC112 Front axle 12mm dia. 
*Spacer cut to spec

XMs - Hardware and Minor Parts

___
*See Assemblies Section for list of all components Motorino XMs Parts



___
*See Assemblies Section for list of all components Motorino XMs Parts
___
*See Assemblies Section for list of all components Motorino XMs Parts

HR43 HR42 M10x1 25 with 15mm 

NOTE: Any minor parts which are elements of a larger assembly (motor, 
spare battery, rear box) are not listed here.  

Part# Picture Description Part# Picture Description

HR03
Bearings -Steering 

Column 
HR23 Panel screws

HR04 Bearings - Pedal Axle HR24 Panel screw clips

HR06 Front Wheel Brake-Side 
Bearings (37mm/12mm) HR52 Ring terminal

HR07 Front Wheel Right-side 
Bearings (32mm/12mm) HR25  M6x1.0 chromed bolt 

(on front fairing)

HR14
Front Wheel Oil 

Seal 
HR73

Xpv/s front caliper 
mounting bolt

HR18
 Spring - Main 

Kickstand
HR31 Universal rear brake disk 

bolt,  also front XPh disc

HR19
Spring - Side 

Kickstand 
HR36 steering column bolt and 

spacer

HR22
Battery contact screw set 

(8 bolts, 8, lock washers, 8 
washers) 

HR72
Shock Mounting 

Bolt

HR43 M8x1.25 Rear Brake 
caliper Mounting Bolt

HR42
Sidestand Mounting Bolt 
M10x1 25 with 15mm .

collar

HR50 6x1.0 bolt (long) HR44 M10x1.25  Main 
Kickstand Bolt w. collar

HR56 Chain Master Link HR55 Bike Chain (specify precise 
length or # of links)

TT11B
Tubeless Tire Valve 

- Bent 
HR51 6x1.0 bolt (short)

MC114
Front Axle spacer 

12mm  *Cut to Spec
 AC18  License plate 


	           PARTS for Motorino XMs
	February, 2016
	XMS_Parts.pdf
	XMs Parts


